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Aufgaben-Quickname: 5651

Aufgabe 1

Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.

a)11-55 =10 =10 =582 g L =g =3%=7F
EE L
¢) 29 - 43 = 80 = 630 — 1391 n7T-H="T=T=65
95 13=9-9o5f w2 f-B-%-of
19182 =0l =32l =34F 2914 =3 =8
Aufgabe 2
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
23 h=h=f wih-f=F o2f-4
Y-p=y=1 93 p-w-1 N2 5=
92 m=xn=T W2Hm-w-m D5 7=
vef-f-p
Aufgabe 3
Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze.
)2:3=3=3 W8 m=m=35 92 W=7
h2-p=p=F 92:3=3=3 N23=3=
p2h=3-3 wah-H-l  azi-g-
1e-f-f-3
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Aufgabe 4 Quick:

Mit welcher ganzen Zahl wurde der Bruch multipliziert? Ergénze. o

azd=§=) w2d=i=i 924=}=}
g23=4=t w2l-f-3 yal-j-i
p2d=i=4

Viel Erfolg!
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